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hoose the correct answer:A. c 

 shortest).-shorter – shortAhmad is ( -1 

 .) mark in the class best-better-Amal gets the ( good--2 

so ) cars that we couldn't park here. –so much  – many soThere are (  -3 

 we couldn't go sailing. that windy so much) -so-( such  It was-4 

.many  ) a beautiful weather that we spent the whole day outside -so  – ( suchIt's -5 

 

 

 

 

 

 

 

 

 

 

 

o as shown between brackets.B.D ل 

correct )  (-1 

…………..  muchhomework that I can't go out tonight ………… yman I have so -1 

……….                                     worstmark in the class……………  badMarry has the -2 

……..    …sofast that he won the race…………such  Omar is -3 

……….                                             biggerthan bears…………… big Elephants are -4 

……… difficultmore  than English………  difficultFrench is -5  

 

)Combine the sentences with so…that or such…..that.2.( 

 1- The children were tired after their school trip. They fell asleep on the bus The children 

ere so tired after their school trip that they fell asleep on the bus.the children w 

 2- The Arabian Oryx was an endangered species. It was extinct in the wild. 

 The Arabian Oryx was such an endangered species that it was extinct in the wild. 

3.(Add     - er) 

 hotter  hot -4           faster fast -3      rshorteshort  -2       easier easy-1 

4.(Add    – est)  

 nicest  nice-4        smartest  smart-3       tallest  tall -2        oldestold  -1 
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U:11 There is no comparison  

1-Write the correct word under each picture 

diamond      –     desktop      -         oryx        -          shark 

shark diamond yxor desktop 
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